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* 1 irreducible components of dim¢ = 0, with total 85 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(u®4+udt+.--+u+t1)

(i) Arc colorings

|
g <

241
4—2U2
u+2ud +u
ar = \ —y" —3u® —2u +u
—ud —2u
u3+u
—ul® — 5048 — 8ub — 3ut +3u? +1
wl® + 448 + 5ub — 3u?
—ul?2 — 5410 — 9y® —6ul +u? +1
a9 = \ M+ 6u'? + 13u!0 + 10u® — 2ub — 4u* + u?
w? + 12027 + - — 6ud — 3u
—udt 13w+ 240" +u
—udt — 15032 4 = 3u? + 1
udt 4+ 1402 4 -+ 8ut + u?
( w0 +29u% + .-+ 9ut + 1 )

ag =

az = \ —u™ —30u™ + .- — 6ut — 2u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u®* +4u® + ... — 8u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® +41u -+ 3u+ 1
C2,Cy T R T |
3 u® — ¥t —3u—1
C4,Cq B —3u—2
Cs, €10, C11 u® — w4 u—1
c8 u® + 3u 4 - — 703u — 192
Co, C12 u® + Tutt + -+ 433u + 37




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y T 21y — 1
c2, 07 y® — 41yt 4 43y — 1
c3 v 6Ty — 1
Ca, Co Y —a5yPt 49y —4
€5, €105 C11 Y+ T 4+ 3y —1
cg y®® +27y% + - + 92545y — 36864
Co, C12 y®® + 5984 + ... — 33697y — 1369




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1CS) Cusp shape
= —0.248900 + 1.0080107 —5.94190 + 0.148901 0
= —0.248900 — 1.0080107 —5.94190 — 0.148901 0
= —0.297171 4 1.0340201 —4.01353 4+ 7.941131 0
= —0.297171 — 1.0340201 —4.01353 — 7.941131 0
= 0.280740 4 1.0477201 —1.61529 — 3.023891 0
= 0.280740 — 1.0477201 —1.61529 + 3.023891 0
= 0.270441 + 1.1128401 —0.089929 — 1.2752701 0
= 0.270441 — 1.1128401 —0.089929 + 1.2752701 0
= —0.278034 + 1.1561401 —0.94658 — 3.209591 0
= —0.278034 — 1.1561401 —0.94658 + 3.209591 0

= 0.209551 4 0.7763331

—6.17352 4 0.116011

—1.51814 — 0.750971

= 0.209551 — 0.7763331

—6.17352 — 0.116017

—1.51814 + 0.750971

= —0.781173 + 0.1652181

—1.36801 — 11.977901

5.82993 +9.118911

= —0.781173 — 0.1652181

—1.36801 + 11.977901

5.82993 — 9.1189171

= 0.775804 + 0.1603981

1.06779 + 6.999221

9.02457 — 5.566361

1.06779 — 6.999221

9.02457 + 5.566361

= —0.766023 + 0.1703991

—3.38713 — 4.047031

2.85028 - 3.336341

= —0.766023 — 0.1703991

—3.38713 + 4.047031

2.85028 — 3.336341

—0.778318 4 0.0317281

4.10355 — 5.779381

10.92900 + 6.009121

= —0.778318 — 0.0317281

4.10355 + 5.779381

10.92900 — 6.009121

= 0.764543 + 0.1373281

2.81551 + 5.130001

10.71873 — 6.578221

= 0.764543 — 0.1373281

2.81551 — 5.130001

10.71873 + 6.578221

= 0.772607 + 0.0163971

5.85261 4 1.002011

14.4008 — 0.71771

= 0.772607 — 0.0163971

5.85261 — 1.002011

14.4008 + 0.71771

= 0.264885 + 0.7138731

—4.48668 + 7.921791

1.27242 — 7.670681

= 0.264885 — 0.7138731

—4.48668 — 7.921791

1.27242 4 7.670681

= —0.750929 + 0.1155871

2.17145 — 0.566641

9.65396 + 0.215601

= —0.750929 — 0.1155871

2.17145 4 0.566641

9.65396 — 0.215601

= 0.719433 + 0.1876231

—4.06922 + 3.450261

2.04119 — 4.454171

U
U
U
U
U
U
U
U
U
U
U
U
U
U
U
u= 0.775804 — 0.1603981
U
U
U
U
U
U
U
U
U
U
U
U
U
U

= 0.719433 — 0.1876231

—4.06922 — 3.450261

2.04119 4 4.454171




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.228274 4 0.6983431

—2.02866 — 3.113781

4.29634 + 4.056251

u = —0.228274 — 0.6983431

—2.02866 + 3.113781

4.29634 — 4.056251

u = —0.326512 + 1.2308701 0.41498 + 1.787731 0
u = —0.326512 — 1.2308701 0.41498 — 1.787731 0
u = —0.184745 + 1.2630201 —3.07305 — 2.434381 0
u = —0.184745 — 1.2630201 —3.07305 + 2.434381 0

u = 0.688445 4 0.2000591

—2.66519 — 4.429581

4.16803 + 2.236941

u = 0.688445 — 0.2000591

—2.66519 + 4.429581

4.16803 — 2.236941

u = —0.691627 4- 0.1777181

—0.102256 — 0.2409281

7.49528 4+ 1.371101

u = —0.691627 — 0.1777181

—0.102256 + 0.2409281

7.49528 — 1.371101

u = 0.324883 4 1.2462101 2.05753 + 2.960091 0
u = 0.324883 — 1.2462101 2.05753 — 2.960091 0
u= 0.116828 + 1.2847501 —6.28256 — 0.705231 0
u= 0.116828 — 1.2847501 —6.28256 4 0.705231 0
u = —0.699942 1.55328 6.87670

u=0.329649 4 1.2718601 1.85314 + 4.978701 0
u= 0.329649 — 1.2718601 1.85314 — 4.978701 0
u = —0.290553 + 1.2825601 —2.46212 — 3.581151 0
u = —0.290553 — 1.2825601 —2.46212 + 3.581151 0
u = 0.182008 + 1.3060801 —5.59206 + 6.552521 0
u = 0.182008 — 1.3060801 —5.59206 — 6.552521 0
u = —0.334981 + 1.2819001 0.01669 — 9.794871 0
u = —0.334981 — 1.2819001 0.01669 + 9.794871 0
u = —0.317650 4 1.3393701 —2.41072 — 4.434571 0
u = —0.317650 — 1.3393701 —2.41072 4 4.434571 0
u = —0.013172 4 1.3843801 —6.34751 — 2.224821 0
u = —0.013172 — 1.3843801 —6.34751 + 2.224821 0
u= 0.324897 4 1.3491701 —1.86872 + 9.073551 0
u= 0.324897 — 1.3491701 —1.86872 — 9.073551 0
u = —0.293142 + 1.3586201 —4.94324 — 3.843821 0




Solutions to I} vV—=1(vol + /=1CS) Cusp shape

u = —0.293142 — 1.3586201 —4.94324 4 3.843821 0
u= 0.288385 + 1.3648901 —7.59509 — 0.861851 0
u=0.288385 — 1.3648901 —7.59509 + 0.861851 0
u= 0.301046 + 1.3656701 —8.97185 4 7.163781 0
u=0.301046 — 1.3656701 —8.97185 — 7.163781 0
= 0.328741 + 1.3613801 —3.73450 + 10.995701 0
u= 0.328741 — 1.3613801 —3.73450 — 10.995701 0
u = —0.323051 + 1.3648301 —8.23465 — 7.991451 0
u = —0.323051 — 1.3648301 —8.23465 + 7.991451 0
u = —0.330797 + 1.3643001 —6.1963 — 15.99961 0
u = —0.330797 — 1.3643001 —6.1963 + 15.99961 0
u = —0.023413 + 1.4104401 —8.46842 — 3.635591 0
u = —0.023413 — 1.4104401 —8.46842 + 3.635591 0
uw=0.02698 + 1.416041 —11.02750 4 8.527281 0
u= 0.02698 — 1.416041 —11.02750 — 8.527281 0
u= 0.01432 4 1.416341 —12.76900 + 0.468131 0
u= 0.01432 — 1.416341 —12.76900 — 0.468131 0

u = —0.159545 + 0.5466381

—0.43421 — 1.859671

4.91547 + 5.621911

u = —0.159545 — 0.5466381

—0.43421 + 1.859671

4.91547 — 5.621911

u = 0.408138 4 0.2570251

—0.93232 + 4.405861

5.40236 — 8.363991

u= 0.408138 —0.2570251

—0.93232 — 4.405861

5.40236 + 8.363991

u=0.266823 + 0.3807631

—1.43413 — 1.943081

2.89552 — 0.961401

u= 0.266823 — 0.3807631

—1.43413 + 1.943081

2.89552 4 0.961401

u = —0.391169 + 0.1286831

0.923187 — 0.3195351

11.07004 + 2.673671

u = —0.391169 — 0.1286831

0.923187 + 0.3195351

11.07004 — 2.673671




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u®® + 410 o+ 3u 1
Ca,C7 W+t —u—1
€3 u® — Bt~ 3u—1
€4, Co u® Ut 4 = 3u -2
Cs5, C10, C11 u® -t -1
c8 u® + 30 + -+ — 703u — 192
C9, C12 u® + Tt 4+ 433u + 37




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
‘1 Y+ Tyt =21y — 1
Co, 07 y® —41yP 3y —1
c3 v 6Ty —1
C4, Cg y® — 453 4. 19y —4
cs,C10, C11 v Ty 43y -1
cs Y% +27y% + - 4 92545y — 36864
Co, C12 Y™ 4+ 59584 + .- — 33697y — 1369




